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General Instructions:
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All questions are compulsory.
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"he question paper consists of 31 questions divided into four sectiors A, B, C and D. Section-
A comprises of 4 guestions of 1 mark each; Section-B comprises of 6 questions of 2 marks each;

Section-C comprises of 10 questions of 3 marks each and Section-T? comprises of 13 questions
of 4 marks each.
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There is no overall choice in this question paper
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Use of calculator is not permitted. -
©ug-3H / SECTION - A
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(Juestion numbers 1 to 4 carry 1 mark each.
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Find the value of (14641)025

A 4x° + 7%° = 3x — 6 x+1 | W fea1 S 1 TRt Ha it | 1
If 4x° + 7x* = 3x~ 6 is divided by x +1, then find the quotient.
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If two complementary angles are 3x + 10 and 7x — 20 then find measures of the angles. .
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A policeman and a thief are equidistant from the jewel box. Upon considering jewel box as
origin, the position of policeman is (0, 5). If the ordinate of the position of thief is zero, then
write the coordinates of the position of thief.
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Question numbers 5 to 10 carry 2 marks each.
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T FNC 2 4f6 - 6 Y343 + 18 % a3 - 196
Simplify : 46 ~ 6 Y343 + 18 % Y243 — 196
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Without actually calculating the cubes, find the value of 45" — 25~ 2(°,
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Prove that an equilateral triangle can be constructed on any given line segment.
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In the given figure, find the angles a and b and then show that LM]||XY.
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A (2,3)
e Atine. digarre, e oo-ortiinates of one vertex “-are cmassing.  Fiad the - missing
co-ordinates.
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A (2,3)
H BYe W Swee am it fa s 9 YE 8 cm WA 11 em ¥ W T@ w1 9RO 2
32 com B

lind the area of a triangle whose, two sides are 8 cm and 11 cm and its perimeter is 32 cm.
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Question numbers 11 to 20 carry 3 marks each.







